U3L1I2c HW							            		            DUE: Thursday, September 19
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The diagram at the right 127y R

shows four linear graphs.

For each graph I-1V, do 1o

the following. o \

a. Find the rate at which /)
y changes as x increases. 6 |

b. Write a NOW-NEXT rule
that describes the pattern . g
of change shown by the 5 u
graph.

c. Wite a rule for calculating
yas a function of x.
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When Robin and Mike had to find a linear function with graph
passing through the two points A(~3, 12) and Q(, —2), they
produced the following work.

The rule will be in the form y = mx + b.

The slope of the line is ~2. [0}
So,y=-2x+b. @
Since A(-3, 12) is on the line, 12 = —2(-3) + b [e)
So,6=b “@

So, the rule is y =

2x+ 6 5)

a. Did Robin and Mike find the correct function rule? If so, what do
you think their reasoning was at each step? If not, where did they
make an error?

b. Use reasoning similar to that of Robin and Mike to find a function
rule for the line through the points (—2, 2) and (6, 10).




